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1. Use the vertex and the point to solve for a in vertex form.
y=a(x— h?+k
3=a(-1+22+6
—5=4
So, the equation of the parabolaisy = —3(x + 2)? + 6.
3. Use the vertex and the point to solve for a in vertex form.
y=ax—h?+k
8=a(l3 —3)2+2
6 = 100a

— 6
2= 100

So, the equation of the parabolaisy = %(x —3)2 + 2.
5. Use the vertex and the point to solve for ¢ in vertex form.
y=alx —h?+k
—24 = g(0 + 6)> — 12
—12 = 36a

g — 1

So, the equation of the parabolaisy = —%(x + 6)2 — 12.
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7. Use the x-intercepts and the point to solve for a in intercept

form.

y=ax — p)}x — q)
4=a3 -4H3—2)
4= —la

a=—4

So, the equation of the parabola is y = —4(x — 2)(x — 4).

9. Use the x-intercepts and the point to solve for a in intercept
form.
y=ax —p)x—gq)
4 = a(14 — 12)(14 — (—6))
4 = 40a

_ 1
T

So, the equation of the parabolais y = %(,x — 12)(x + 6).

11. Use the x-intercepts and the point to solve for @ in intercept
form.
y=ax—p)x—q
72 =a(—18 + 16)(—18 + 2)
72 = 32a

_9
=3

So, the equation of the parabolaisy = %(x + 16)(x + 2).

13. When the x-intercepts and an additional point is known, use
the intercept form to write the equation of the parabola, and
when the vertex and an additional point is known, use the
vertex form to write the equation of the parabola.
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15. The vertex of the parabola is (3, 150) and an additional
point is (1, 86). Use the vertex and the point to solve for @ in
vertex form.

y=ax—h? +k
86 = a(1 — 3)2 + 150
86 = 4a + 150
—04 = 4a
—16=a
So, the equation of the parabola is y = —16(x — 3)? + 150.

17. The x-intercepts of the parabola are 0 and 4 and an additional
point is (3, 2.25). Use the x-intercepts and the point to solve
for a in vertex form.

y=ax—p)x—gq)
225=a(3+0)3 —4)
225 = —-3a
a= —0.75
So, the equation of the parabolais y = —0.75x(x — 4).

19. The x-intercepts were substituted incorrectly.
y=ax—p)x—q)
4=a3+1)3—-2)
4 =4a

I =a
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